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To exclude Asheyroh wood — TIWN XY IPIDRY

OVERVIEW
X3P n said that when our mwn stated, Y1379 w7 90 it meant to exclude ¥y
TR, for people are not TIWK XY Y713, since it is an 1"y, !
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Our 71w is not like 5''% who maintains in ¥''9 p=p that -
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Even one who carries out into a 17'"777 a miniscule amount of items that serve for
the 1""v, he is liable -
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Rather our 71wn here is according to the »''n there; so explains >''w= there.

nvoIN asks:
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And the X'2w1 has a difficulty; this which the X773 states here, ‘the one (5")

who maintains that 7171 27 is excluded, so certainly 79w S2¥ are excluded’, the

question is -
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How does the X713 know this, perhaps 5" agrees with "', and he holds liable

one who carries out 7IWR XY, since people put it aside in order to burn it?! msoin
does not answer this question.’

SUMMARY
Why cannot we assume that 5" agrees with > that it is the 777 to be 1"y ¥71xn?

! x99 11 said that it comes to exclude 7771 07 and (the X3 adds) certainly 7 WwX *xv. See 7"» "7 >"w.

2 The mwn there mentions various items for which there is no ™M@ for aX¥YI; one is 2’1 even for a miniscule
amount. > adds that for 1"y *wnwn one is also 2>°1 for a XIW 3.

3 This is in contradiction to 5" and X237 % who maintain that 1" is not ¥°1¥7% w2 and therefore one is not liable
for it.

4 See >"wA there D 7"'7 who writes, T3 '3 R?T 3PWR XY 0N RIDPINT 1D PIXA? W WKW 93 (:7v 77 YY) 130T XM

> Once we know that there is a XIn who maintains that one is 211 for 1"y, why should we assume that he argues on
our 71wn (as *"wn states there), perhaps he agrees with our miwn, for he maintains that it is the 777 to be ™"y ¥°1¥n, in
order to burn it. Therefore the question is (not only on >"¥" there, but also on our 13) why should we assume that
9'"7 agrees with X3P 7n and argues with *"9, when we can say that he agrees with *"9, and one is 217 for being X%
1"y, since it is the Ww*1x¥n% 717. See ‘Thinking it over’.

¢ mooin is adding this point so *"1 can agree with our mawn.

7 See 2717 W2 who answers that according to > (who maintains 21 3"9¥xwn) he will be 21 for 771 a7 as well, for
he is removing it in order he should not become X»nv from it. w"»y.
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THINKING IT OVER

It seems we have a choice here;? either >3 argues with our 71wn and X3pw 21 5™
agree with our mwn that 1"y 7v°1¥7 X (the way >"w1 explains it), or that [perhaps]
our mIwn agrees with °"7 according to "9, but our 7Iwn disagrees with "
according to X3P 7 (the X"2w1). Why is one better than the other?!

8 See footnote # 5.
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